1.

1I|ITI|

R EELY e YN

=R TR R

= 4B

TH2FEE T LB M e T

% P

SAATTHRT FIL=TH #WN

%

it TIER L =62.0m

HAPE R (A (H1, 100 X @2, 000 AEH#ESR 27— A H) L=58. 94m

HEVE G 1A (H1, 100 X @1, 280 AR 207V - NESAR) L= 2
S al AR A 1)

J_IJ_I—'—

HATE RS IEME (HL, 100 X 500 ik

. bbm
12¢ (L= 0. 50m)

T

LT a7 —h L

J& 4 ER|

W

RN

fm
%

fERFRR

AAL K OVBA AL

AF24E8 H 17T H

EHIT 9 B 35 4y

T ETHI AR 208 AFL=

T OE Al A

¥3,751,000

(Bis2)

i I 1) R Al 4%

AL PR RE 4| BE

T2 PR FiE 4

H
(FK4%E010/100LL Foo%E)

T %= 8 ™

ELkERE A O A G

100 H [t




